Vaddo BK

Sommarbridge 6 2019-08-01

Partavling, 10 bord, 19 par. Antal brickor: 24. Medel: 191.5. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 20 269.4 70.15 Bengt Hammar - Katherine Ekblad 1238 92362 BK S:tErik
2 12 216.5 56.39  Marianne Gloudemans - Ulla Jender 13037 31042 Lidingd BK
3 7 209.0 54.44  Lars-Goran Holmberg - Géran Persson 14781 16674  Osthammars BK
4 16 201.6 52.51  Per Schréder - Margaretha Dalhamn 47183 79858 BK S:tErik
5 11 2015 52.49  Ove Bertills - Ulla Bertills 46431 46430 BK S:tErik
6 15 200.8 52.28  Eva Skoglund - Gunnar Skoglund 87656 87658 Vaddo BK
7 10 200.6 52.24  Gosta Kron - Jim Nilsson 50145 3507  Vé&ddo BK
8 8 197.2 51.35 Ola Olsson - Par Olsson 9856 - LM Ericssons BK
9 5 196.0 51.03  Hjordis Sandberg - Evy Dahlberg 2546 11725 Norrtélje BS
10 2 193.0 50.25  Leif Andersson - Inger Andersson 9905 16267 Vaddo BK
11 1 191.6 49.89  Gunnar Granat - Mariann Granat 85458 85452  Vaddo BK
12 17 190.6 49.64  Karin Lindell - Lars Broman 9591 12142  Véaddo BK
13 6 188.8 49.16  Carl-Olof Gustafsson - Ingrid Falk 49557 52394  Vasbypensionarernas BF
14 14 174.9 45.54  Siv Blomgvist - Lars Blomqvist 67562 67563 Norrtalje BS
15 13 168.4 43.85  Nils Eriksson - Rolf Séderberg 11401 39862 Vaddo BK
16 3 168.1 43.79  Lena Konradsson - Kicki Silverbern 64391 64384 Norrtélje BS
17 4 159.1 41.42  Lillemor Henriksson - Lars-Erik Bang 37609 67513 Vaddo BK
18 18 158.6 41.31  Jens Berg - Lars Ake Karlsson 64387 58135 Norrtélje BS - Vaddo BK
19 9 153.5 39.99 Hans Widlund - Mona Lund 2187 36263 Malard BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
12 15 464 N+1 vQ 450 13.0 30|11 3 24V-2 v9 100 00|17 5 3NN= oK 400 0.1
13 1 44 N+1 vQ 450 13.0 3.0| 4 17 24 V-1 v9 50 2014 7 3a4V-2 v2 200 24
16 8 44 N+1 vQ 450 13.0 30|13 1 3¢ N-1 46 -100 6.0/ 11 18 2¢ S+2 43 130 4.6
20 5 464 N+1 vJ 450 13.0 3.0[18 10 3¢ N-1 46 -100 6.0 8 10 3¢ S= 3 110 9.1
6 14 3NN+1 3 430 70 9.0(20 5 3¢ N-1 46 -100 6.0 9 16 3¢ S= 43 110 9.1
7 9 3NN+1 vQ 430 70 90| 7 9 2vO= +8 -110 10.0|13 2 3¢ S= 43 110 9.1
11 3 34 N+2 #Q 200 40 120| 6 14 2NO= +5 -120 12.0| 6 20 Pass 13.6
18 10 3v V-2 +K 100 20 140(12 15 3v O= vK -140 140| 1 15 44 S-1 43 -50 15.9
4 17 34 S-3 ] -150 00 16.0|16 8 INO+2 vA -150 16.0| - 3 7.0
-2 80| - 2 80|12 4 A=/A= 8.0
4 Vvast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res
17 5 3NO-2 *K 200 159 01| 1 5 5¢0-1 *K 50 00| 1 5 440-1 2 100 90 7.0
8 10 INV-1 *7 100 114 46|18 12 1a V= *2 -80 20| 6 17 44 O-1 *T 100 9.0 7.0
11 18 24 O-1 +9 100 114 46| 6 17 3¢ V+3 v2 -170 5.0(10 16 44 O-1 T 100 9.0 7.0
14 7 INO-1 v2 100 114 46|20 7 24 V+2  #A -170 50(13 3 44 0-1 *T 100 90 7.0
6 20 Pass 6.9 91| 9 11 5¢ O= *K -400 9.0(14 8 44 0-1 vA 100 9.0 7.0
13 2 INO+1 «Q -120 46 114|113 3 5¢ O= &K -400 9.0(15 2 44 0-1 2 100 9.0 7.0
1 15 2vV+1l &8 -140 24 136(10 16 5¢ O+1 &K -420 14.0|18 12 44 O-1 2 100 90 7.0
9 16 2# N-2 v2 -200 0.1 159(14 8 5¢ V+1 &A -420 140|120 7 44 O-1 *7 100 9.0 7.0
- 3 70|15 2 5¢ O+1 &K -420 140 9 11 44 O= &T -620 0.0 16.0
12 4 A=/A= 80 80| 4 - 4 - 6.6
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
7 17 3NO-2 *5 200 16.0 0.0| 8 20 3NS= 3 400 20[(13 5 3NV-2 ] 200 150 1.0
1 18 24 N+2 ¢K 130 120 40|13 4 3NN= 2 400 20|17 8 5¢DO-1 ¥vA 200 150 1.0
2 6 24N+2 ¢K 130 120 40|15 3 3NS= v9 400 20| 2 18 3NV-1 49 100 90 7.0
13 4 3&aN+1 ¢4 130 120 40| 1 18 3NN-1 2 -50 10.0|14 10 3NV-1 *] 100 9.0 7.0
14 9 3a&N-= v7 110 70 90| 2 6 3NS-1 40Q -50 10016 12 3NV-1 &T 100 90 7.0
15 3 1aN+2 49 110 70 9.0 7 17 3NN-1 *T -50 100120 9 3NV-1 *] 100 90 7.0
10 12 INN-1 46 -100 40 12.0|10 12 3NN-1 *T -50 100(11 1 INV+2 & -150 4.0 12.0
8 20 2v V+1 &A -140 10 150(16 11 3NN-1 2 -50 100 3 7 3NV= ] -600 1.0 15.0
16 11 2¢vy V+1  v9 -140 10 150(14 9 44 N-4 *T -200 16.0|15 4 3NV= a A -600 1.0 150
- 5 82| - 5 82| 6 - 7.9
10 Ost Alla 11 Syd Ingen 12 Véast NS
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res
20 9 1INV -4 &7 400 16,0 0.0|12 2 5¢ S+1 &A 420 0.0[12 2 24 N+1 ¢A 140 1.0
2 18 INN+4 v2 210 140 20| 4 8 5¢ S= +3 400 5017 9 34 N= vT 140 1.0
15 4 INN+3 v2 180 120 40|13 6 5¢ S= v] 400 50(16 1 24 N= *] 110 4.0
3 7 INV-1 8 100 80 80|15 5 5¢S= aA 400 50| 4 8 2v0-1 A 50 6.0
11 1 24 O0-1 +6 100 80 80(16 1 5¢ S= a A 400 5,010 20 24 N-1 vT -100 11.0
13 5 34 0-1 2 100 80 80([17 9 4¢ S+1 &A 150 11.0|13 6 24 N-1 vT -100 11.0
14 10 INN= v2 90 3.0 13.0{18 3 3¢ S+2 &A 150 11.0|14 11 44 N-1 vT -100 11.0
16 12 2# N= 46 90 3.0 13.0|[10 20 6¢ S-1 vl] -50 15018 3 34 N-1 *7 -100 11.0
17 8 3NN-2 *K -200 0.0 16.0(14 11 3NN-1 a5 -50 15015 5 2vO= oK -110 16.0
6 - 7.9 -7 87| - 7 8.7
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
11 20 3¢ V+3 YA -170  16.0 0.0| 7 13 4v V-2 +9 100 . 0.0|17 11 3NS+2 8 660 0.0
5 9 340+3 vQ 230 140 20| 5 9 440-1 +Q 50 130 3.0| 2 4 3NS= v3 600 5.0
7 13 5¢ V+1 vA -620 11.0 50|18 4 3v V-1 +8 50 30 30| 6 10 3NS= v] 600 5.0
14 12 44 V= &T -620 11.0 50| 1 3 34 0= vQ -140 90 7.0[/16 3 3NS= vT 600 5.0
1 3 440+1 ¥¢Q -650 6.0 10.0|14 12 3v V= +9 -140 90 7.0]|20 12 3NS= v8 600 5.0
15 6 44 V+1 vA -650 6.0 100(16 2 34 O+1 +¢K -170 6.0 100 1 14 INS+2 3 150 11.0
18 4 44 O+1 8 -650 6.0 10.0(15 6 44 O= vQ -420 40 120|15 7 INS+2 8 150 11.0
16 2 44 O+2 v8 -680 20 14.0(11 20 44 O+1 K -450 20 140|118 5 2NS= v8 120 14.0
17 10 44 O+3 vQ -710 0.0 16.0(17 10 64 O= +K -980 0.0 16.0[13 8 3NS-2 v] -200 16.0
8 - 8.2 8 - 8.2 9 -
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16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
1 14 4v V-2 *4 200 00| 7 11 44DN= +A 590 00| 9 13 3v S= +3 140 0.0
2 4 3vV-1 +3 100 50|20 1 44 N= + K 420 20| 3 5 340-2 vA 100 3.0
6 10 4v V-1 +3 100 5016 4 34 N= vA 140 40|16 4 44 O-2 &7 100 3.0
15 7 4v V-1 a A 100 50| 9 13 5vDV-1 &K 100 6.0| 7 11 44 O-1 vK 50 7.0
20 12 3v V-1 *4 100 50|18 6 4v V-1 s A 50 8.0|17 12 44 O-1 vA 50 7.0
17 11 54 S-2 &9 -100 100| 8 15 44 N-1 *A -50 100|14 2 3v S-2 & K -200 10.0
18 5 2v 0= &2 -110 12014 2 44 N-2 ¢+ K -100 13.0( 8 15 44 O= vA -420 14.0
13 8 3vO= *A -140 15.0| 17 12 54 N-2 vA -100 13.0|18 6 44 O= &7 -420 14.0
16 3 3v V= &5 -140 150 3 5 3vV+l s A -170 16.0/20 1 44 O= vK -420 14.0
9 - - 10 84| - 10 8.4
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
20 2 INDO-2 vl 500 01| 5 16 3NO= *2 -600 1.3|/20 3 3NN+3 v5 690 0.0
5 16 2NV-2 v5 200 24120 2 3NO= &9 -600 1.3]10 15 3NN +2 v2 660 3.0
17 1 2v S+1 &3 140 46|15 9 3NO+1 v¥5 -630 58|16 6 3NN+2 v4 660 3.0
8 12 2v S= &3 110 8.0[(18 7 3NO+1 ¢2 -630 58| 9 1 3NN+1 v4 630 7.0
15 9 2v S= +5 110 80| 3 14 3NO+2 v¥5 -660 125118 8 3NN+1 a2 630 7.0
3 14 24 V-1 a5 100 114 8 12 3NO+2 2 -660 125 5 7 3NN= vK 600 12.0
13 10 1V +1 +8 -90 13613 10 3NO+2 ¢7 -660 125]11 13 54 N= vK 600 12.0
18 7 2#V+1 *2 -110 159117 1 3NO+2 &9 -660 125114 4 3NN= a2 600 12.0
- 11 84| - 11 84| 2 17 INN+2 v2 150 16.0
4 6 A-IA- 64| 4 6 A-IA- 64| - 12 9.0
22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
16 6 3NV-1 46 100 00| 6 8 240-2 *T 200 1.0|12 13 6vyDV-4 &A 800 0.0
20 3 INV= 46 -90 20|15 11 24 O -2 *T 200 10| 5 14 54DS= &A 650 2.0
5 7 2¢ O+1 &K -110 40(20 4 INN+2 &2 150 40(10 2 54 S= vA 450 5.0
14 4 INV+1 46 -120 6.0 9 18 INN &A 90 60|20 4 56 S= &A 450 5.0
10 15 2v O+1 &A -140 80| 7 16 INV *2 -90 90|17 3 44 S= +8 420 8.0
2 17 2NV +1 *2 -150 11.0|12 13 240 *T -90 90| 6 8 5¢ N= T 400 10.0
18 8 INV+2 LY -150 11.0| 5 14 2NS a5 -100 13.0|15 11 5v V-3 ¢ A 150 12.0
11 13 2v O+2 &A -170 140|110 2 2¢ N SA -100 13.0| 7 16 4vyDV-1 «Q 100 14.0
9 1 24 N-4 +K -200 16.0|17 3 2¢ N &A -200 160 9 18 54 S-1 vA -50 16.0
- 12 90| - 1 80| - 1 8.0
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